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2019 (S) A

SSC PART-II (10th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP-I e - s;ab <t/ u"L/) U'”L)
TIME ALLOWED: 2.10 Hours SUBJECTIVE _¢L» 210 = 5
MAXIMUM MARKS: 60 60 = /'.}u{
NOTE: - Write same question number DXV 74 Z,mﬂ]ul/dfqﬁvdfdlf oy
and its part number on answer book, as given in the question paper.
SECTION-l Ji.2
2. Attempt any six parts. 12=2x6 é/qu?r_l]bz?c:.Jsr 24 )iy
(i}  Define Radical Equation. ch.ﬂ fJL,u.yUL»‘QJM (i)
(i) Solve. ( g L Jz _9 (zx ; J 0
2 4
(i) Find discriminant of the given quadratic equation. 9x2 —30x+25=0 ..{Epj"aﬂuﬂ.,lswjmjdﬂd; (iii)
(v) Evaluate. 37 +038 -5 03«03 -5 Fered ()
(v)  Define Synthetic Division. fq--“/‘J (= L‘f/ (v)
(viy If o, p arethe ,5{»}’@25 o’ + B2 ?;,usujﬂi 4 —3x +6=0eMs B« @ /i (vi)

roots of 4x* —3x + 6 =0 thenfind a? + 132

(vii) Define Ratio. ~¢‘36J/‘7wa’ (vii)

=

(viii) If @:b =76 then find the value of 3a + 5h : 7h - Sa -fffabb.fg Sa+38:76—5ama:b=7:6/ (viii)

(ix) If w varies Hu=6 o2 ..i"/f’b/ Wl u=3 £ w=5 Jsmu@f‘i‘/?l:..,:fi u §ow ,fi (ix)
inversely as thecube of # and w=5 when u=3. Find w when u =6.

3. Attempt any six parts. 12=2x6 éxfutifililiau/ ~.3/J!y

(i)  Define Rational Fraction. ZaSP

(i) Define Binary Relation. ZaAlude i

(i) Define One-one function. Ei ey i)

Z

(V) fYy={2459}adx ={1,4,79} ,g(ﬁfxuyime{i,at,?_,g}};fyz{z,:t,s,s)}/‘i (iv)
thenfind XU Y

(v) If 4={a,b}and B={c,d } then S AxB I B={cd} sd=1{ab W
find 4x B

(vi) Define Mode. éwfuuu (Vi)

(vi) Name two measures of central tendency. -.:.Lirtc..uﬂfsﬁu@;u// (vii)

(vii) Define Range. ,..ff_»/ﬂdw (viii)

(ix) The salaries of -é#’”y 11500, 12400, 15000, 14500, 14800 -wJ;un(u*a,u)wlxvuwét (ix)

five teachers in rupees are 11500, 12400, 15000, 14500, 14800. Find range.
( 5’.:1_' JJJ )
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(2)
4. Attempt any six parts. 12=2x6 g//wUfc.Jﬁa?c:..&f 44y

() Convert _31} radians to degree measure. éf ’»vuw"/'/ !(u hi — (i)
(i) Find »  when/=4dcm, 0= 1}1 radian. 0 :-i— (s £=4 (’é_‘éﬁ”énf r (ii)
(ii) Define Projection. EaAS i
(iv) Define Circumference of a Circle. el ()
(v) Define Secant of a Circle. -”—f---af’/J chbg {v)
(vi) Define an Arc of a Circle. Z,J/’ 17 (vi)
(vii) Define Central Angle. Al il
(viii) Define Segment of a Circle. _Ebms (i)
(ix) Define Polygon. M ()
SECTION-Il /0.2

24=8x3 il O fepl e §F 2
NOTE: Attempt any three questions but question No.9 is compulsory.
5.(A)  Solve the equation. Ji2 —3x+36 - Jx2 —3x+9=3 ISl ()5

20 +5p =7 Fhaluson Roots) pL 52 ~5x+P=0 ebbe p o o SEeedd P (D)
(B) Find P ,iftheroots o, P ofthe equation X2 —5x+P= 0,
satisfy the relation 2o + 53 =7

4a - 9b 40—9d;¢{gn(abcd¢0) a:b:c:a’/r' (L-6
4 9b0 4e + 9d

4a-9% 4e-9d
4a+ 9 4+ 9d

6.(A) If a:b=c:d “(a, biec,d #0)then show that

(B)  Resolve into partial fractions. 9% — Z 9x ~ Z i _éﬁl{ﬂ;/g};z ()
(E-4-3 )8 £ 1) (x+3)(x" +1)

AUBNC) = (AUBNAUC) EetinC = {1,4,8 Y B={2,4,6,8 } A=1123,456 A ()T

7(A) FA={1,2,3,4,56} B={2468} and C={1,4.8}
then prove the identity AU(BﬂC) =(AUBNAUC)

(B) Calculate variance for the data e 610,897,512, 86,8 2 (o)
10,8, 9,7 5 12,8 6,8 2
| o 2
8.(A) If cosec® = é r-’-’”u*jj ‘~ Jn secH >0 sl cosecO = }% S ()-8

and sec® > 0, find the remaining trigonometric functions.

_U%VJ/};/@#!: L3 ;'ﬁ(' 6.5 PBG.L;‘JJW/I/Z:UL’? ‘U:I/ 3 Al( 25 Jiud ;_yau}'f‘?a_?f:» )
(B)  Draw two circles with radii 2.5 cmand 3 cm. If their centres are 6.5 cm apart,
then draw two direct common tangents. )
9. Perpendicular from the centre of a circle on a chord bisects it 2 I;:f'f.if"“d/u’f ;Jyf{}au) c,}r/&..}h -9
OR |
The opposite angles of any quadrilateral inscribed in a ,L,;';LM,JULE/;J{[{ {fi_sljéﬁiijﬁz,dsﬁf)uljbd(
circle are supplementary.

30-2019(S)-/4/¢:O  (MULTAN)
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PAPER CODE 2019 (S) A
NUMBER: 3191 SSC PART-II (10th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP-I owf (of SV G

TIME ALLOWED: 20 Minutes 20 = o
MAXIMUM MARKS: 15 15= Af
/c.u' L/L[/IJJU’J&/LVVV/JJLJ u;/UZﬁ_Jc.L'L u’;/d({}b’ -SE&EsD s CBA ...«L:’j}lvid Iy wiiid
/»WJU’U' gﬁ-lvbdw/dfu”._dr"d/af.,/ J{)J/'} -K)’J!“'ﬁkufiwau-.uxﬂpQ_/f oy d../,g:’z,b/w)luc.m wes)
Note: you have four choices for each objective type question as A, B, C and D. The choice ,J/ J")}..«Ubf
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

OBJECTIVE (&/.e

Q.No.1

=1 /?Jlr‘

(1) The Quadratic Formula is: -c_IJ{”{ligf{:_) (1
2 o 2 2 2
b E b — dac _bi\fg——ttac _—bt\[g; + 4ac b+\[b + duc
(A) x=- 2a (B) x="—"7, (Ce= 2q () == 2a
(2) The square roots of unity are: ~B G el 38 (2)
(A) 1, -1 B)1, o C) I, ~o D) ®, w?
(3) The discriminant of ax® + bx + ¢ = 0 is: b3 ax 4bxic=0 oble  (3)
2
(A} b2 + dac (B) h? - 4dac (C) —b? + dac (D) —b* — dac ;
(4) The third proportional of X and ¥ is: e EUEE 2 (4)
2 4
% Y
®) 5 B) x*y> © £ o %
X X
(5) If a:b=x:y then alternando property is: _g__w_Ul,gl?y: atb=x:y Ji (8)
b a+b x+y a—-b x-
(A <=8 (B) = =2 (C) = (D) it 4
x W by b ¥ X ¥
6) (x+3)% =x*96% + 9 ig: B i (x+3)2::x2+6x+9 (6)

(A) Alinear equation,, </, sf (B) An inequation _A:V/ (C) An identity il (D) Fraction /
(7) If number of elements in set A -c.dwwu(u(; AAXB Wdt B orul 3 UEIt A ..vv/f 7
is3andinset B is4then numberof elementsin 4 x B is:

(A) 3 (B) 4 (C) 12 D7
(8) If 4 and B are disjoint sets then 4 |J B is equal to: bz AUB ?un.:;J;-’}{ B o A S (8)
(A) 4 (B) B (C) ¢ D) BU 4

=3 C‘L&*’?L_%K&quﬂf'u/ (9)
(D) Mode a2k

(9) The spread or scatterness of observations in a data set is called:
(A) Average k-l (B) Dispersion (C) Central tendency /7,

(10) sec’® = L sec’® = (10)
(A) 1-sin%0 (B) 1+ tan*0 (C) 1+ cos?0 (D) 1 - tan*0
| | I |
(i 1+sin@  1-sin — 1 + sinf " I-sinf — (1)
(A) 2sec?0 (B) 2cos?0 (C) sec’® (D) cosB
(12) Line segment joining any point of the circle to _q.t"ﬂr'/ bﬂufﬁiﬂf}(fcﬁu’zr‘-ﬂf (12)

the centre is called:
(A} Circumference L5
(13) Acircle has only one:
(A) Secant 61 (B) Chord Js
(14) If an arc of a circle subtends a central angle of 60° then the
corresponding chord of the arc will make the central angle of:

(C) Radial segment 451y, (D) Perimeter bl
-g.t‘ﬂ;ﬁ.ﬁd/(gjb.g

(C) Diameter & (D) Centre /7

S Akl 60° i SpH I

(B) Diameter 4

(A) 20° (B) 40° (C) 60° . (D) 80° .
(15) The measure of the external angle of a regular octagon is: ~‘Ldmwd/u#'idw-’:d/ FA (15)
T T T i
Al B ™ ok o)~
(A) 3 (B) 3 ( )8 (D) 5

30(0bj)( ¥ )-2019(S-4/(>¢  (MULTAN)
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PAPER CODE 2019 (S) s

NUMBER: 3193 SSC PART-Il (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP- - (f UV
TIME ALLOWED: 20 Minutes OBJECTIVE (% *.o o 20 =
MAXIMUM MARKS: 15 15 =

A b\ I3 Ll R e b s E s s\l gz ~SLE D 4 C B A ALl iy
/:/, I 1 -KL.LPLJJ“/(};J‘HJ"I};_JM/ J}L s —”}")"d’fn.l‘u'?u JJu)J’“’J_..)Z’ /:_«E/ L i 7 J:JL BTy tzc.ml (i)

Note: you have four choices for each objective type question as A, B, C and D. The choice _Jf J’,,‘..wlr

S

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fiil the bubbles. Cutting or filling two or more bubbles will resuilt in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) sec’® = sec’®=_ )
(A) 1 - sin?0 (B) 1 + tan20 (C) 1 + cos20 (D) 1 - tan?0

I i

@) T+ sin@  1-sing | —— ﬁ'!;;};e '(‘:;],}{é‘ @
(A) 2sec?0 (B) 2cos20 (C) sec” B (D) cosd

(3) Line segment joining any point of the circle to _.g.t'M e b;ﬁUf;wa?}:ﬂi‘ﬁfc&,/’b (3)

the centre is called:

(A} Circumference ks (B) Diameter A (C) Radial segment -#'51 (D) Perimeter b’

(4) Acircie has only one: - mm_i/e{(_;u..g (4)
(A) Secant 6k (B) Chord (C) Diameter 5 (D} Centre 7

(5) Ifan arc of a circle subtends a central angle of 607 then the KT E e 0% ST IL (5)

corresponding chord of the arc will.make the central angle of:

(A) 20° B) 40° (C) 60° (D) 80° .

(6) The measure of the external angie of a regular octagon is: -‘de,u&m(upi)&;ﬂif AU (8)

n T - m

(A) 4 (B P (C) 3 (D) 5

{(7) The Quadratic Formula is: R e Uysifam (7)
(A) x= 0% &;‘ﬁi (B) x = /’*\/L;_ 4 (0) x= —h ‘ffj;i‘ﬁ (D) x = ”f_lf%%* i

(8) The square roots of unity are: -ugé/bjguééb’l (8)
(A} 1, =1 B) Lo (C) L, —o (D) o, 0>

(9) The discriminant of ax® + bx + ¢ = 0 is: -:.z"m»/u/( ax® +bx+c=0 il (9)

(A) b* + 4ac (B) 6> — dac (C) —b% + dac (D) ~b% = dac
{(10) The third pmportlonal of x2 and yz . _/fl/. 11 yz Al x? (10)
4 2

(A) *‘:2 (B) x%? () )‘; (D) f4

(11) f a:b=x:y then alternando property is: v ulina b =x v A
(A) L. é (B) L (C) 4 ié _ Xty (D) _‘f_’:fl = Dl

x oy by b ¥ x y

(12) (x + 3)2 =x2 +6x+9 is: ~ m.,g (x + 3}2 =x? +6x+9 (12)

(A} Alinear equation QIJVJ-J,‘ (B) An mequancn ._,sl/-/ (C} An identity JV (D) Fractlon/

{13) If number of elements in set A4 dc.uw;io’uuéu AxB M4y B er i 3 :‘,wdubﬁlu” A w/i
is3andinset B is4then numbercfelemenisin A x B is:

(A) 3 (B) 4 (C) 12 ) 7

(14) If 4 and B aredisjoint sets then 4 |J B is equal to: ~etnse AU B ?w.:,g_f;?f,é B sd
(A) 4 (B) B ) ¢ D) BU 4

(15) The spread or scatterness of observations in 2 data set is called: -;.mi.»@zg{s’;uuhwg’
(A) Average b (B) Dispersion &3 (C) Central tendency &> (D) Mode »e

30(0b)( YW )-2019(S)- 1760 (MULTAN)
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PAPER CODE 2019 (S) A

NUMBER: 3195 SSC PART-II (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-| by -/ (f VG
TIME ALLOWED: 20 Minutes OBJECTIVE gf‘}/‘”.ﬂ? e 20 = <y
MAXIMUM MARKS: 15 15= A

S b S Il 2 emne Jt L L L g $637 (g LEs D C B A WL Ly ki
/.:-/J i ?;loL;u“/‘u)/J._a:‘JL_// J(,’ ) {fJﬂhkulfaJJAwuxﬂJ@); JE¥ L d_)/,j/u;/ Je:LJr_:J oo
Note: you have four choices for each objective type question as A, B, C and D. The choice _J/ J"/C-..«J’r
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) If number of elements in set 4 H.C‘...&}’:'Jlﬂd/d(ﬂu: AxB ndt B or s 3 St A @A
is3andinset B is4then numberofelementsin A x B is:
(A) 3 (B) 4 () 12 D) 7 )
(2) If 4 and B are disjoint sets then 4 |J B is equal to: -ebndz AU B Juner S22SB4 A S (2)
(A) 4 (B) B ) ¢ D) BU 4
(3) The spread or scatterness of observations in a data set is called: -{.L"M/i WA K Loty J( (3)
(A) Average L-s (B) Dispersion s/ (C) Central tendency .‘.-jg?/d?} (D) Mode ok
(4) sec’ = o sec? = 4
(A) 1-sin%0 (8) 1 + tan’® (C) 1+ cos20 o) 1- tanz?
) i+:ine " 1—:me Bammans By e )
(A) 2sec?® (B) 2cos°0 (C) sec?@ (D) cosdl
(6) Line segment joining any point®f the circle'to -{JM - b;ﬁleé_ti;'}}c..ﬁfnf( Lo (6)
the centre is called:
(A) Circumference b (B) Diameter 4 (C) Radial segment +#451., / (D) Perimeter b/
(7) Acircle has only one: gl gl (7)
(A) Secant {55 (B) Chord (C) Diameter % (D) Centre /7
(8) Ifanarc of a circle subtends a central angle of 60° then the -tﬂf,;i}d}‘% };ﬁfci- 60° g"idy;’l{u";v_a (8)
corresponding chord of the arc will make the central angle of:
(A) 20° (B) 40° (€) 60° (D) 80° »
(9) The measure of the external angle of a regular octagon is: ~§-L§ﬂf'ﬁd/u£5’i£3!fséf ,)’/ -g 9)
s 7 o i3
(A? n (B) 5 (C) g (D) )
(10) The Quadratic Formula is: -a-dr‘xgi{{) (10)
() we et g’j' oo (B) x = f’iibz ;:ff (6} z :f’_i_l}g_if’i (D) x = éj—‘i%%i o
(11) The square roots of unity are: ~L)fé/j'”:?”£§jm (11)
(A) 1, -1 B) 1,0 ©) 1, -0 D) w0
(12) The discriminant of ax> + bx + ¢ = 0 is: u;_tm‘a'iﬁ/"? ax®> +bx+c=0 =br  (12)
(A) b2 + dac (B) b* - dac (C) —h% + dac (D) — b2 - dac
(13) The third proportlonai of x?and 2 is: ) -9-,-«1}'7'/::{ I LK)
®) i : (B) x%»? B % 0=
(14) if a:b=x:y thenalternando property is: ceuiinab=x: vh o (14)
[ 2 ? (B)gz—x- Qarb_x+y pa-b_x-y
x oy £ b v X y
(15) (x+3)?=x%+6x+9 is e H(x+3¥=x"+6x+9 (15)

(A) Alinear equation =lsrZuscl  (B)Aninequation =lslsd  (C)An identity wk1” (D) Fraction

30(0bj)( 3¢V 0)2019(8)-/4/ (O (MULTAN)
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PAPER CODE 2019 (S) Yoo
NUMBER: 3197 SSC PART-ll {10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-I by - o) (o S Sl
TIME ALLOWED: 20 Minutes OBJECTIVE (/7.2 w20 = =
MAXIMUM MARKS: 15 15 = /Lﬁ

/‘-’/c:._on"': " /L:(?DJWJUVL..JJ et o U3 ::fz_’_ Jd.f'.—b'l. ”*’f ”JEU? &L D CBA .__,Ll?j;ip.ﬂu Iy oY
{2 »,Jlru‘l &_w JUM’/"{J! ..:uy"d/ﬂ__):/ J'\/J-/U L r"wufazyﬁd.:«Jy‘Jg/g /uf L H_L I m;c,,..,! cﬁ:
Note: you have four choices for 2ach objective type question as A, B, C and D. The choice _J/,.«JF//‘...« Uiy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles wili result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do net solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The third proportional of x> and y? is: s _,/'5-:.1/:“5 vt ()
4
W @ *°y° © % o) X
X x~ X .
(2) If a:b=x:y thenalternando property is: -:‘:_..:»;Uhg!?ﬂ a:b=x:y/ (2)
(A) a_b B2 = (C) atb _x+y o 4 O d
x oy by b v X y
(3) (x+3)% = x> +6x+9 is: < L (x+3P=xF+6x+9 (3
(A) A linear equation .:,'JV‘J.J;...» (B) An mequa fion ..J:L*/’ (C\Anidentity bl (D) Fraction // )
{(4) If number of elements in set A4 -c.Jn,uJuwﬂu. Ax B mdt B r il 35 @me A d.{/"f (4)
is3andinset B is4thennumberofelementsin A x B is
(A) 3 (B) 4 (C) B (D) 7 ,
(5) if 4 and B are disjoint'sets then L) B ds'equal to; % (sl A B ?u:’fu‘--*’—f i B gt S (5)
(A) 4 (8) B € o (0) BUMA
(B) The spread or scatterness of observations.in a data set is cailed: -c_»llffty;’ K,_,u,mrd( {6)
(A) Average bl (B) Dispersion L4 (C) Central tendency ;;){;"Jd/ (D) Mode 2k
(7) sec’0 = sec’® = (T)
(A) 1= sin20 (B) 1+ tan2 o (C) 1+ cos’0 (D)11 s laﬂz?
I e S g Fimeme T ©
(A) 2s5ec”® (B) 2cos20 (C) sec20 (D) cosd
(9) Line segment joining any point of the circle to ,z‘;.t‘LLr-‘/ éiﬁﬂi‘;i.m@};.bﬁu’z./_f’b (9)
the centre is called:
(A) Circumference L¢ (B) Diameter % (C) Radial segment 51, (D) Perimeter bb/
(10) Acircle has only one; - gkl (10)
(A) Secant G (B) Chord s (C) Diameter # (D) Centre /7
(1) If an arc of a circle subtends @ central angle of 609 then the Sui§ I rnLie 600 EAPEAL (1)
corresponding chord of the arc will make the centrai angle of:
(A) 20° (B) 40° (C) 60° (D) 80°
(12)  The measure of the external angle of a regular octagon is: _;‘;,[Sm,;"f&,r.g;u&;,g& "?”-«Q (12)
o ® © 5 o >
(13) The Quadratic Formu!a s -:.;_MUJ.»» (13)
B et ‘f?bj 4"‘_ (B) 5= :"__j.i_.\f’?;ﬁ?ﬁ (C) x = jt\jgi’ﬂ‘ff'_ ) \_fi_?ﬁ_ﬂiﬁ
(14) The square roots of unity are: i @/’J#’}L‘J{’ (14)
(A) 1, -1 (B) 1, €)1, o D} w, 0>
(15) The discriminant of ax2 + bx + ¢ = 0 is: et ax? +hx =0 bl (15)
(A) b% + dac (B) b° - dac (C) b + dac (D) —h* - dac

30(00j)( W I 7%7%)-2019(5)-/4/(7 ¢> . (MULTAN)
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2019 (S) )
SSC PART-II (10th CLASS) ) ) '
MATHEMATICS (SCIENCE GROUP) GROUP-! b < () UL G

TIME ALLOWED: 2.10 Hours SUBJECTIVE .¥l.» £910 = =

wr

MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number w3 -u:ufa?-{.jfrfﬁg,f Z-,»/:‘SZ»I/:U-‘M:/?MQ 0y,
and its part number on answer book, as given in the question paper.

SECTION-l Jil.o

: 5 2 . 1 '
2. Attempt any six parts. 12=2x6 —hy _-;',!;?Z,lzfgr_df 24 )
(i)  Define Exponential Equation. Eilenadied ()
2 2
(i) Sove [ 2x- l) =7 { 1129 P i)
"2/ 4 T2) T4
(iiiy  Without solving the equation -éf#@ﬁﬁhsbﬁ(ﬁﬁéd’f 7x% — Smx + 9n =0 =blFon (i)

7x* = Smx +9n = 0 find the sum and product of roots of the quadratic equation.

(iv) Evaluate o'+ @3® -5 o7+ -5 -é{’l’”&g (iv)
(v) Write the quadratic equation having roots Sk o, B x_fg »:»'ﬁb‘u’-ﬂ»dfﬁujuéfé—ﬁ (v)
(vi) Find the disoriminantof the giver quacratic equation.  2x +Bx 1 =0  _ZeMeFenifonlnd (i)
(vil) Define Continued Proportion. -_é'-:':'/‘?u(h:ﬂ't:y/ (vii)
(viii) Find the mean proportional of 9p%* and 8 #gf,i.}ﬁ’.,/bﬂdm( P2l 9p°q* (viii)
(i) Find x | if 60m:90m :: 20ke : xke 60m : 90m :: 20kg : xkg ﬁ_éfﬁjy * o {ix)
3. Attempt any six paits. 12=2x6 -ﬁ.’?jau,ea:i’zlgc.df -3/,}Jir
() Resolve into Partal fractions ~—— - ES oS (_xj'_zlx); xg -3 )

(x+1)(x-3)

(i) If x={14,79 tand A XU Y = {2,459 baix ={1,4,7,93 ] i
Y =1{2,4,509 }thenfind xXUY

(iii) ifA:{a,b}andB:{g,a‘} -é_{‘}'}‘” Bx A . AxB?ﬂB-—-{c,d}uiAz{a,b}/ﬁ (i)
thenfind 4x B and B x 4

(V) ¥L={ab, c}andd ={34} EePnlil LxM e M={34}4L={ab ¢}/ ()
then find two binary relations of L x As

(v) Define intersection of two sets. S CEL Ut W

(vi) Find arithmetic mean by direct method. 12, 14, 17, 20, 24, 29, 35, 45 g hadoe 3 hd b (i)

(Vi) On'5 term tests in EeFbad Lot 8, 93, 86, 92, 79 LAl F bl Lol i
Mathematics, a student has made marks of 82, 63, 86, 92, 79. Find the median for the marks.

(vili) Write the names of two measures of central tendency. -é_/f::'cl.uf'g»é:u@d P;' (viii)

(i) Define Median. s (i

(21 J}J)
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(2)
4. Attempt any six parts. 12=2x6 i fehplimg e & A4y

2 0032 0

(i)  Prove that S{E——q + sin@ = cosecH : + sin6 = cosecB q.é..r.r,E (i)

sinf sin® "

; 5m o
(i) Convert = todegree. -éJkUU/G - i
(ii) Define Projection. ZSE i)
(iv) Define Circumcircle, Eaflempe ()
(v)  Define Chord of a Circle. _i..v /"J Al (V)
(vi) Define Secant. -g;’ - /‘U E,J’ o (Vi)
(vii) Define Cyclic Quadrilateral. Eop Py KA (il
(viii) Define Triangle. o ASek i)
(ix) Define Radius of a Circle. & »@fb(u'fﬂié-//“ (ix)

SECTION-II (> o
24=8x3 i O el e 8 e

NOTE: Attempt any three questions but question No.9 is compulsory.

3 g
5(A) Solve the equation. 2(2x — 1) + _3__5 22x 1) + —— =5 _ENile ()5
2x -1 2x -1
o
(B) Solve the eqaution -f_u'fujuic,l,-v 3 J’ZJ’; 30 —11x% +5x+3=0 :AJVC-JL‘""'LﬁJL‘-ﬂ] (__,)

3% — 11x% + 5x + 3 = 0 by using synthetic division, when 3 is the root of equation.

F T et an L DRSS (s
: X+ 3 B JX -
[ N i ; +3 / -3 4
6.(A)  Using theorem of componendo-dividendo, solve the equation | ERRE -
N BEENE WY

Sx + 4 : - : LWl x4 ()
(B) RGSOIVE(I_4)(x+2) into partial fractions. ER 0 G-a(erl)

AUBNC) = (AUBNAUC) g Setin ¢ = {1, 4,8} 4 B=1{2,4,6,8}4=11,2,34, 5,6} /1 (U7
7(A) if A:{152:3:43556}, 82{2,4,6,8}and (::{1,4,8}
then prove that AU(BNC) = (AUBYNAUC)

(B)  The length of 32 items are given below. SR (o ,g_J,'@nduJu, 2 82 e 6
Find the standard deviation of the distribution.
Length GLJ 20-22 23-25 26 -28 29 - 31 32-34
Frequency o low 3 6 12 9 2
. i 1 +sin® 1 -sin® 8 i
8.(A)  Verify the identity o 17 S0Y _ 4tan0 secH Jletledl (.8
] —sin® 1+ sin0 =
(B)  Draw two perpendicular tangents to a circle of radius 3 cm. -Jf“é/u Vd»%;..f..ﬁ.}bé_hufu( 3 (L)
9. Prove that a straight line, drawn from - tvinfy 2 B IS ( %P7 ) }:o/ el }bf"éa.% -9
the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.
OR |

_;::_tn'tfvczu_ﬁfbr‘;diw(q;.%'?d;?ublﬁ@lJd}‘//ulrél'.'-::. a/ﬁ/)’fﬁa.?bu/f_éq%
Prove that the measure of a central angle of a minor arc of a circle, is double that of the angle

subtended by the corresponding major arc.
322019(8): 3. S ¢ (MULTAN)
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PAPER CODE A

NUMBER: 3192

2019 (S)
SSC PART-lI {10th CLASS)

Z . N
(*::"/ J:Iw) Y

=3

MATHEMATICS (SCIENCE GROUP) GROUP-II o <o)

TIME ALLOWED: 20 Minutes OBJECTIVE g%/w 220 =

MAXIMUM MARKS: 15 15= Af
Ao E L /LI/J.WJL:'AL/__.—'J?J»@_J J’J'J‘Z:__Jd'.. LA...Q'Y//}EJI? -U'TZ:.._) D, CB-A VUJ’,.-@bA./,JIry
PR V] Eé_.btsf/dfu*w;ﬁfd../az rua/U 4{9"J!““5LFMFJ7M}ELJJHA"’JH_./C‘ Juk ! .;.,.)n(uu‘m'.x_..f -2y
Note: you have four choices for each objective type question as A, B, C and D. The choice -J),J’//._-/Hff
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filiing two or more bubbles will result in zero mark in that question. No credit wili be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. , /,/J
A Ay

Q.No.1
(1) The number of methods to solve quadratic equation are: (_,5'2_, }aii,ﬂ%wd»» (1)

_¢.d‘

(A) 1 (B) 2 C) 3 (D) 4 )
(2) Two square roots of unity are: B Auend K (2)
(A) 1, -1 (B) 1, ® ©) 1, -0 D) o, .
(3) If o, paretherootsof 7x2 —x +4=0 sz of Sl T2 —x+4=0 @bl p« & T (3
then aff is:
-1 g o 4 , e
B = B) < cy 2 B —2
(A) = (B) A (C) - (D) 7
(4) Find x in porportion 4 :x::5:15. WA X 4ixn5:15 b (4)
75 4 3
e B) = m D) 12
A B) 3 © = (
(5) If {; :g thenthescomponendo property is: -c‘-;ﬁf}ﬁffff?ﬁ %:2 Ji (5)
e < W @R | ad a-8 g d
(A) a+b60 ¢+ (B) a —bWpc—d (€) bc (©) bl Ao d
3 3
(8) ) XJ +1 |S _‘L ) h—g‘ x =+l (6)
(x=1)(x+2) (x=1)(x+2)

(A} A proper fraction /’/__J.i; (B) An improper fraction l/_,).l:/:f‘ (C) An identity il (DY A constant term ﬁdf"
| e twdy ANB ju AS B Ji (7)

(7 If A< Bthen A B is equal to:

(A) A (B) B C) ¢ (D) A
(8) The number of elements in power setof {1,2,3 } is: ,ﬁz_;!,oujp(uiﬁﬁlf..:—yxsgcﬁ {1,2,3} (8)
(A) 4 (B) 6 )8 (D)9

. .,.a»u,fJJ ¢ ()
(D) Tnang!es b/urj"

(9) AHistogram is a set of adjacent:

(A) Squares §Us (B) Rectangles §U&*" (C) Circles §Us i

(10) cosec’® — cot’8 = ) cosec® —cot’0 = (10)
(A)1 ®) -1 ()0 (D) tan ,

(11) The system of measurement in which the angle *c.t',gﬂ/f*" ‘LJigd/ufiuféJJ‘j‘qd;JljufU‘?-rLb‘Jb/fg; (11)

is measured in radians is called (A) CGS system (’/ G

(B) Sexagesimal system (LEKJLAZ_JL: (C) MKS system :“L{Jf!rﬁf:f (D) Circular system B

(12) The chord passing through the centre of a circle is called; bW S Sl s (12)
{A) Radius J1x (B) Diameter £ (C) Circumference ¢ (D) Secant B

(13) Acircle has only one: ~elbw (ﬁ...g/l_jﬂ'&_}ljup {13)
(A) Secant Ziw (B) Chord 7 (C) Diameter /J» (D) Centre //

(14) The chord length of a circle subtending a A SUSI 1807 ik s (14)

central angle of 180 is always:

(A) Less than radial segment f;.qu
(C) Double of the radial segment /3§11
A line intersecting a circle is called:

(A) Tangent W {B) Secant Cf’L'”in

(B) Equal to the radial segment el
(D} Triple of the radial segment Lﬂj‘rfjls
BT (18)

(C) Chord s (D) Diameter

32(QObj)( 7&”)2019(8)-35 ¢ (MULTAN)
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2019 (S) A

SSC PART-II (10th CLASS)

PAPER CODE
NUMBER: 3194

MATHEMATICS (SCIENCE GROUP) GROUP-I -t (f V) L
TIME ALLOWED: 20 Minutes OBJECTIVE (/7.2

MAXIMUM MARKS: 15 15= /f
Aol /(Lf/lﬁjb?fﬂbfiuifwﬂc,u» uubd.;.x".bﬁd r//db/dif LD CBA Hi.ff.fxlpf_dir/
/JJJ[!’JI ..._leJu /d)/u‘um’d/é_/r )j:,luh gfﬂ"”bkul;’w&\_f’_u:"d&-/; s L z../f,d/us/hwbc.-hf s,
Note: you have four choices for each objective type question as A, B, C and D. The choice -/ oL JP);.._,UU—'
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

20 = =

e

Q.No.1
(1) Find x inporportion 4:x::5:15 .

-Q:/f-'wx o dixun5:15 oF

-1/-,213“

(1)

75 4 3
Al = g C) = D) 12
") - ® 3 © 3 (D)
. e @ € g
2) If Z:Ef then the componendo property is: dq_pﬁ_f,{/ﬂﬁ g:E Ji (2)
a C a ¢ ad a—-b c¢c-d
A) — = ——— B = C) — D = —
()a+b c+d ()a—b c—d ()bc o b d
(3) - J_: +1 - [ x> +1 3)
(x=1)(x+2) T T (x =) (x4 2)

(A} A proper fraction /-.,::b (
(4) If4 < B then A B isequal to:

B) An improper fraction /;ab/,," (

~e by ANB w Ac B

C) An identity il (D) A constant term ﬁd‘”/

(A) 4 (B) B € o (D) 4'

(5) The number of elements in power setof {1,2,3 } is: el {123} ()
(A) 4 ()6 (C) 8 D) 9

(6) A Histogram is a set of adjacent: _Jﬂ’c—ﬁ;ﬂd § (6
(A) Squares €Uy (B) Rectangles §u4%" (C) Circles s/ (D) Trlangles KuyL"

(7) cosec’® — cot?® = o cosec?® — cot’6 = _
(A) 1 (B) -1 C)0 (D) tan®

(8) The system of measurement in which the angle
is measured in radians is called:
(B) Sexagesimal system ¥/ 1L #

_.”_LM[‘/
(A) CGS system (’JUJ
(C) MKS system ("/ LA

Lt}lw(ufwjézj&;@ﬂiufﬁrwifjg

(D) Circular system B

(9) The chord passing through the centre of a circle is called: -LLM}UULJ;;_)/LL/’ ] (9)
(A) Radius 1 (B) Diameter 4 (C) Circumference k5 (D) Secant k325
(10) A circle has only one: et GH g (10)
(A) Secant (6w (B) Chord Js (C) Diameter 4 (D) Centre /7
(11) The chord length of a circle subtending a -Jf dud/m’;b 1807, ;!/J///;K.:,./u (11)
central angle of 1807 is always:
(A) Less than radial segment {:_,Jlu (B) Equat to the radial segment ey
(C) Double of the radial segment A0 (D) Triple of the radial segment lfL,L' K1
(12) Aline intersecting a circle is called: -.'_L“Mb)lrfﬂ‘%f.,/b (12)
(A) Tangent gV (B) Secant C‘-’ii'.lé (C) Chord 7 (D) Diameter #
(13) The number of methods to solve quadratic equation are: SESLE S agnn (13)
(A) 1 (B) 2 (C) 3 (D)4
(14) Two square roots of unity are: _L,gd/ujgmf.éﬁl (14)
(A) 1, ~1 B) 1, €)1, - D) o,
(15) If o , P aretheroots of 7x% ~ x + 4 = 0 -&4ls o :Uruui Tx2 —x+4=0 2 B« « A (15)
then af is:
o] 7 4 -
(A) Kl (B) x (C) 5 (D) 3
32(0bj)( 39 37)-2019(5)-2, SO (MULTAN)
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2019 (S) A
SSC PART-Il (10th CLASS)

'|PAPER CODE

NUMBER: 3196
MATHEMATICS (SCIENCE GROUP) GROUP-I -/ (/SO G
TIME ALLOWED: 20 Minutes OBJECTIVE (%2 20 =

MAXIMUM MARKS: 15 15= AF
A F L /GU;/”DJUJ‘&UV:C\_,U?WALJ: u:fl)é.ffc’:.)a"_‘-VLJlfﬁ{Q(db? -u}f’:é..J D./CB:A :«L’:’.;ﬁx?[—db‘; i
YEIF VY _bﬁLbL:uf/J[ufaJﬂJL./Cui :’:Js//‘: _(ﬂJr‘jﬂi“_«'ﬁa»’:iu::u:"JL/q Jo¥ ! H'__)//:fuu’buya.-—g B odos
Note: you have four choices for each objective type question as A, B, C and D. The choice _qf)::d’};:.ulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) AHistogram is a set of adjacent;
(A) Squares U,

(2) cosec®® - cot?0 =

(B) Rectangles ¥Us#" (C) Circles KU /s

-:Wq_;y‘f.‘ﬁ"u) ¥
(D) Triangles KU
cosec® — cot? =

1 /-,}Jlr

(1)

(2)

(A) 1 (B) -1 (C)0 ) (D) tan® )
(3) The system of measurement in which the angle P U VRS Iy THDN Y g )
is measured in radians is called: (A) CGS system ("/ Vi
(B) Sexagesimal system &k LIL A1 (C) MKS system ft‘/ SILE (D) Circular system i/

i e Lty (4)
(C) Circumference h# (D) Secant L.a+
e b gL A (5)
(C) Diameter # (D) Centre /7
S QU 1800 ikt (@)

(4) The chord passing through the centre of a circle is called:
(A) Radius (s (B) Diameter 4
(5) Acircle has only one:
(A) Secant bk (B) Chord s
(6) The chord length of a circle subtending a
central angle of 1807 is always:
(A) Less than radial segment ﬂ;.,JJ:J
(C) Double-of the radial segment ‘&1
(7) Aline intersecting acircle is called:

(B) Equal to the radialsegment s gty
(D) Triple of the radial segment U’Uf 0, i
M (1)

(A) Tangent UV (BYSecant 68 (C) Chord 7 (D) Diameter 4
(8) The number of methods to solve quadratic equation are: -ujé_l_.)’éi./gffalsl/&.m (8)
(A) 1 (B) 2 (C) 3 (D) 4 )
(9) Two square roots of unity are: -qf(ﬁ/b@»ﬁ.dm (9)
(A5 1,1 (B) 1, ® €)1 - D) o, 02 )
(10) Ifa , B aretherootsof 7x* —x +4=0 -csis ap Il Tx2 = x4+ 4=0 ehle Beoa S (10)
then «f is:
-1 7 4 -4
A) 2 L 6 o
(A) Z (B) 2 (€) 5 D) Z
(11) Find X in porportion 4:x::5:15 . A U 4xnsi1s o (M)
75 4 3
(A) — (B) - (C) - (D) 12
4 3 4
d . P &
(12) If g=§ then the componendo property is: e o §=E S 12
a c a C ad a-b c-d
A . B = C) — D =
()a-l-b c+d ()a—b c-d ()bc ©) b d
3 3
(13) — % *1 s - g X+ (13)
(x-1)(x+2) ‘ " (x—1)(x+2)

(A) A proper fraction /._.::Ja (B) An improper fraction /.._).l:/,-f (C) An identity Y (D) A constant term f;J‘V
(14) If A< Bthen ANB is equal to: -ebndy ANB Jn ACB A (14)

(A) 4 (B) B C) ¢ (D) 4
(16) The number of elements in power setof {1,2,3 } is: -§-J’J?7JUKJJ£¢:1’££ {L2,3} (15
(A) 4 (B) 6 (C)8 (D)9

32(0bj)( W I ¥)2019(5)1- 3.5 G (MULTAN)
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PAPER CODE 2019 (S) A

NUMBER: 3198 SSC PART-Il (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-II o (o DG
TIME ALLOWED: 20 Minutes OBJECTIVE ﬁ/’.ﬂ? 220 = &y
MAXIMUM MARKS: 15 15= AF

S i L SM 3L R eene S L s Wl v g J6017 (LD 1 C B A 2zl Ll S
4 «/.Jlrgj fc-lpt)uw/d}( _‘;«J)“JL/,.-.{, }{_)J/b ff}:“"bkuffuﬁu"un‘d/g/:’ PN b d..jfu:zbuba.bf ks
Note: you have four choices for each objective type question as A, B, C and D. The choice -.j/ d’/jﬂuwr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Acircle has only one: el S (1)
(A) Secant (2L (B) Chord 7 (C) Diameter # (D) Centre ,{’/

(2) The chord length of a circle subtending a -u(r (}LJJ/uLb 1809 . md//;;(;/b (2)

central angle of 1807 is always:

{A) Less than radial segment (.:.Jﬁu (B) Equal to the radial segment YISy
(C) Double of the radial segment Lf;:bijlu (D) Triple of the radial segment Lfo 0, i

(3) Aline intersecting a circle is called: et/ (3)
(A) Tangent 'V (B) Secant {65 (C) Chord 7 (D) Diameter 4

(4) The number of methods to solve quadratic equation are: u:.?i“_ /"LL}U’J/;I;L-»&»» (4)
(A) 1 (B) 2 (C) 3 (D) 4 )

(5) Two square roots of unity are: Bl 81 (5)
(A) 1, -1 (B) 1, » (C) 1, —w D) o,

(6) If o, Plaretheoots of 7x* —x +4=0 .oz of Wil 72 —x+4=0lbis pca J ()
then off is:

g ] 4 o o
(A) 7 (B) 4 (C) 7 (D) 7
(7) Find x inporportion 4:x:5:15 . B Aix SIS o (T)
75 4 3
Al L B) — ] = D)12
(A) A (B) 3 (C) " (D)
. v 0 C
(8) If g = ;{Cw then the componendo property is: «9@»&,{ sy ? = A (8)
&
a c a i ad a-—b —d
A ] B = Y = D—— =
(Ja+b c+d ()a—b c—d ()bc © b d
3
x +1 g x +1
. s Ll (9)
(‘C*l)(x+2) ’ T (x-1)(x+2)
(A} A proper fraction 1/__,».1; (B) An improper fraction ,/\,_a.fs/f (C) An identity 4w D (D) A constant term HJV
(10) f A< Bthen ANB isequal to: wbndy ANB Je AcB i (10)
(A) 4 (B) B (C) ¢ (D) A’ |
(11) The number of elements in power setof {1,2,3 } is: -leA;Ju’E’)‘L-‘-v:‘ﬂ&L {L2.3} (1)
(A) 4 (B) 6 (C)8 (D)9
(12) AHistogram is a set of adjacent; -Jﬂtw‘iﬂ’d ¥ (12)
(A) Squares KU, (B) Rectangles §U&" (C) Circles §us s (D )Tnangles Ku/”
(13) cosec?® — cot?0 = cosec’® — cot’0 = _ (13)
(A) 1 (B) ~1 (C)0 ) (D) tand )
(14) The system of measurement in which the angle -Lt'ﬁ""F—J c_ubJu':c[ 3y St s L (14)
is measured in radians is called: (A) CGS system f"/w i)
(B) Sexagesimal system WK/ L-IL F- (C) MKS system ("/ LA (D) Circular system (Uwu;x
{(15) The chord passing through the centre of a circle is called: _.:.LJ«C:UI ,:_;/r_u,r/éa_/i: {(15)
(A) Radius (/1x (B) Diameter /;5 (C) Circumference L¥ (D) Secant ]

32(0bj) W I W W)2019(8)1- 2 S5 (MULTAN)
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